
X6

LV432570

IMPORTANT NOTE

r This device must be installed by a
qualified electrician
¡ We cannot accept any responsibility
for failure to follow the instructions
provided in this document
r Read and understand the safety
instructions accompanying this document
before performing any procedure

REMARQUE IMPORTANTE

r L'installation de cet appareil
doit être effectuée par des
professionnels de l'électricité.
¡ Le non-respect des ¡ndications de la
présente notice ne saurait engager
la responsabilité du constructeur
r Lisez attentivement les consignes de
sécur¡té jointes à ce document avant
toute opération.

OBS ERVACIÓN IM PORTANTE

r La instalación y mantenimiento de
este aparato sólo debe ser realizado
por electricistas profesionales
r El fabricante no se hace responsable
en caso de no cumplir con las
indicaciones expuestas en este aviso.
r Lea atentamente las indicaciones de
seguridad adjuntas a este documento
antes de realizar cualquier operación.

É4ÈËS4
. +*íÊ]ù,tn ü àffi ü! É,. I .iüf q* 

"

I &lll 4,4+E,f+ lrj E +rëflÉAltg f
rriTFÉm+4fl'rÊ4f .

. iÊ lr+J\1i 1+ I4 & lF Zffi Èl 11 +Hffi 
^rtsf Ê!4êrÉ'È.

stF"tl.4:r

cHD16243AA-05

Schneider Electric lndustries SAS
35, rue Joseph Monier
cs 30323
F - 92506 Rueil Malmaison Cedex

www.schneider-electric.com

.D
\ôc7

O 2010 Schneider Electric
All rights reserved.

ONp
o

o

/ NSX cord

/ NSX cord

OFF
oFlloF2toF3

SDx / SDTAM

MN/MX

o Tripped

4P

BSCM

3P

Push to trip

+
Ø1.s

113,5
4.5

+

227
8.9

+

mm
in

Ø6
Ø0.2 x200 X

7.9

22,5
0.9

,5
0.

--ì<45
1.7

ø,

NSX400-630

3P 6(M10x27,5)
4P B (M10 x 27,5)

3P 4(Msx85)
4P 4(M5x85)

3P4P 2Ø4x20
3P4P 1 Ø4x14

3P4P I Ø5x16

4P 1Ø3x10 fi1

))EÚ71Þ)

mm
ln

127 x

4.65

t

tY

_l_
I

\

mm
in

r

Ã

IY

+63,5
2.5

'l75 x
69

90
3.5

o

I

7 lb-in
3x10

x1 17.7
4x14

x1

4x20
17 7 lb-in x2

v
\

M5x85

@

GHD16243AA-05 4t4 GHD16243AA-05

100

90

1t4



3P LV432486
4P tV432487

I

o
É

0

3P LV432490
4P LV432491

É

0

m
3P LV432484
4P LV432485 3P LV432586

4P LV432587

M10 x27,5

@%
/)>/ 50 N.m

\19ø-in

mm
in

30
1.2 35...300 mm'Cu / Al

AWG 2 ..600 kcmil Cu / AlS

N.m
274 lb-in

@

/)>
/37 N.m
\ szz t¡-¡n

t)>/ 37 N.m
\ szt tt-¡n

@
3P LV432591
4P LV432592%

LV432475

3P LV43248',1

4P LV432482

60 30
r-r o.2 x 35...2 x 95 mm2Cu /Al
\) " 2xAWG 2..2xAWG 4/0Cu/At4 1 2

'.>/ 31 N.m
\ zt¿ tø-¡n

N.m
274 lb-in

2.4

30
1.2 /. \ ^ .2 x 120...2 x 240 mm2 Cu / Al

\J ò' 
2 x 250 kcmit...2 x 500 kcmit Cu / At

MandatoryU>500V
ObligatoireU>500V
ObligatorioU>500V

o o-

x3

\
LV432476

MandatoryU>500V
ObligatoireU>500V
ObligatorioU>500V

@

M10 x27,5

@%

o
,-t>('t,2N.m

\!o,jtb-in

o

o
o

o

3P LV432593
4P LV432s94

A Mandatory for performance "S" and "L"
Obligatoire pour performances 'rS" et 'rL"
Obligatorio para realizaciónes '¡S" y r'L"

45

3P LV432593
4P LV432594

52,5

3P LV432595
4P LV432596

o o
80'

mm
in

ø>10
Ø>0.4

<32
< 1.25

o

% 0
.>

/ 1,2N.m

\!0.! tb-in

e Ã-

A
3P LV432578
4P LV432579

MandatoryU>500V
ObligatoireU>500V
ObligatorioU>500V

ê
11@

3P LV432479
4P LV432480

3(e(10
0.1 <e40.4

400
7

3(x(10
0 1 <x4 0.4 ø>10

Ø>0.4

<32
<15
< 0.6

< 1.25

É

0

cHDl6243AA-05 2t4 GHD16243AA-05 3t4


